
70-79=1  80-89=2 Rim1
Rappel 
Libre 1

Rappel 
Indicé 1

F=1 H=2 1 Trompette 1 1
Age 1 2 Bouleau 1 1
NSC 1 3 Mandarine 0 1

Genre 2 4 Oignon 1 1
5 Lilas 1 1
6 Vautour 1
7 Pyjama 0 1
8 Buffet 1 1
9 Requin 1

10 Guepe 1 1
11 Cognac 1 1
12 Bêche 0 1

Total 9 5 5
Total 10
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Rappel 
Libre 2

Rappel 
Indicé 2

Différé 
Libre

Différé 
Indicé

24h Libre 24h Indicé

1 1 1
1 1 1
1 0 1

1 1
1 1

1 1
1 1 1

1 1 1
1 1 1
1 1 1

1 1
1 1 1
5 6 5 5 1 9

Total 11 Total 10 Total 10
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Libre 1 Libre 2
Libre 

différé 20'
Libre 

différé 24h
Score attendu 7,50 8,43 7,54 6,4
Score patient 5 5 5 1
Score Z -1,53 -1,94 -1,37 -2,44

RIM RT1 RT2 RTD RTD24h
Score patient 9 10 11 10 10
Percentile 1< <5 10 25 10 25< <50

Score Percentile ISDA % Percentile
Rec 12 25≤ ≤ 100 Encodage 0 90
FR sem 1 90> >1 RécupApp 78,57 25
FR phon 0 90 RécupRD 71,43 10

Score Cut Off RécupRD24h 82 50
Nb Intr par RL Ou RI0 2 ConsoRD 0 50< <100
INTR RL 24 0 3 ConsoRD24h 2 25
Persévérations 0 2
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NSC 1et 2 NSC 3 NSC 1et 2 NSC 3 NSC 1et 2
Encod Encod RT1 RT1 RT2

(n = 133) (n = 86) (n = 134) (n = 86) (n = 134)
1 <1 1 <1 1 <1 1 <1 0
2 <1 2 <1 1 <1 2 <1 1
3 <1 3 <1 2 <1 3 <1 2
4 <1 4 <1 3 <1 4 <1 3
5 <1 5 <1 4 <1 5 <1 4
6 <1 6 <1 5 <1 6 <1 5
7 <1 7 <1 6 <1 7 <1 6
8 1 8 <1 7 <1 8 <1 7
9 1< <5 9 1 8 1< <5 9 1 8
10 5≤ ≤10 10 5 9 5 10 5 9
11 25 11 10 10 10 11 10 10
12 50≤ ≤100 12 25≤ ≤100 11 25 11 25 11

12 50≤ ≤100 12 50≤ ≤100 12
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NSC 3 NSC 1et 2 NSC 3 NSC 1et 2 NSC 3
RT2 RDT20 RDT20 RDT24h RDT24h

(n = 86) (n = 134) (n = 86) (n = 58) (n = 41)
<1 1 <1 0 <1 1 <1 0 <1 1 <1
<1 2 <1 1 <1 2 <1 1 <1 2 <1
<1 3 <1 2 <1 3 <1 2 <1 3 <1
<1 4 <1 3 <1 4 <1 3 <1 4 <1
<1 5 <1 4 <1 5 <1 4 <1 5 <1
<1 6 <1 5 <1 6 <1 5 <1 6 <1
<1 7 <1 6 <1 7 <1 6 <1 7 1
<1 8 <1 7 <1 8 <1 7 1 8 10

1< <5 9 1 8 1< <5 9 1 8 10 9 10< <25
5 10 5 9 5 10 5 9 10< <25 10 25

10 11 10 10 10 11 10 10 25< <50 11 25< <50
25 12 25≤ ≤100 11 25 12 50≤ ≤100 11 50 12 50≤ ≤100

50≤ ≤100 12 50≤ ≤100 12 12 75≤ ≤100
12
12
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Reccorr FR sem FR phono
(n = 220) Percentiles (n = 220) Percentiles (n = 220) Percentiles
0 <1 0 90 0 90
1 <1 1 90> >1 1 1
2 <1 2 1 2 <1
3 <1 3 <1 3 <1
4 <1 4 <1 4 <1
5 <1 5 <1 5 <1
6 <1 6 <1 6 <1
7 <1 7 <1 7 <1
8 <1 8 <1 8 <1
9 <1 9 <1 9 <1
10 <1 10 <1 10 <1
11 5≤ ≤ 10 11 <1 11 <1
12 25≤ ≤ 100 12 <1 12 <1
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NSC1-2 NSC3
Encodage

Percentiles
Recup.

Percentiles
Recup.

Percentiles
Recup.

Percentiles
Recup.

Appr. Appr. 20’ 24H
(n = 220) (n = 219)* (n = 219)* (n = 209)** (n = 94)***

0 90 0 <1 1,33 1 0

0 90 0 <1 10 <1 45,71 5 33,33

0 90 10 <1 20 <1 60 10 40

0 90 20 <1 30 <1 75 25 50

0 90 30 <1 40 <1 100 50 75

0 90 40 <1 45 <1 100 75 100

1 1 41,65 1 49,2 1 100 90 100

2 <1 50 5 63,33 5
3 <1 53,62 10 74 10
4 <1 73,24 25 85,71 25
5 <1 83,33 50 100 50
6 <1 91,67 75 100 75
7 <1 100 90 100 90
8 <1
9 <1
10 <1
11 <1
12 <1

Rim1
Rappel 
Libre 1

Rappel 
Indicé 1

Rappel 
Libre 2

Rappel 
Indicé 2

Différé 
Libre

Différé 
Indicé 24h Libre 24h Indicé

1 Trompette 1 0 1 0 1 0 1 0 1
2 Bouleau 1 0 1 0 1 0 1 0 1
3 Mandarine 0 0 1 0 1 0 0 0 1
4 Oignon 1 1 0 0 1 0 0 1 0
5 Lilas 1 1 0 0 1 1 0 0 0
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6 Vautour 1 0 0 0 0 0 1 0 1
7 Pyjama 0 1 0 1 0 1 0 0 1
8 Buffet 1 0 1 1 0 1 0 0 1
9 Requin 1 0 0 1 0 1 0 0 1

10 Guepe 1 0 1 1 0 0 1 0 1
11 Cognac 1 1 0 0 1 0 1 0 0
12 Bêche 0 1 0 1 0 1 0 0 1

5 5 5 6 5 5 1 9

Encodage 0
Récup App 78,57
Récup RD 71,43
Récup 24h 81,82
ConsoRD 0
Conso24h 2
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Percentiles
Cons 20’

Percentiles
Cons 24h

Percentiles
(n = 220) (n = 99)

1 0 50< <100 0 75< <100

5 1 25 1 50

10 2 5< <10 2 25

25 3 1 3 10

50 4 <1 4 5

75 5 <1 5 1

90 6 <1 6 <1
7 <1 7 <1
8 <1 8 <1
9 <1 9 <1
10 <1 10 <1
11 <1 11 <1
12 <1 12 <1

Enc RDL+RDI
RD24hL
+RD24hI

RL1+RI1+RL
2+RI2 RD-RD24h

4 1 1 2 0
4 1 1 2 0
3 0 1 2 -1
3 0 1 2 -1
3 1 0 2 1
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2 1 1 0 0
4 1 1 2 0
4 1 1 2 0
3 1 1 1 0
4 1 1 2 0
3 1 0 2 1
4 1 1 2 0

NB = -1 -1
2
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14
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